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General Instructions :
(i) There are 29 questions in all. All questions are compulsory.

(it)  Marks for each question are indicated against the question.
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(iii)  Questions from serial number 1 to 10 are 1 mark questions. Answer of
these questions may be from one word to one sentence.

(iv)  Questions from serial number 11 to 18 are 3 marks questions. Answer
of these questions should not exceed 80 words each.

(v)  Questions from serial number 19 to 28 are 4 marks questions. Answer
of these questions should not exceed 100 words each.

(vi)  Question No. 29 is a map work question. Attach the map inside your
answer book.

T 5 :

(i)  FeT 29 T & | AH T G &

(i)  TAF G F 37 T & G 129 7T 8|

(iii) 97 G 1 T 10 TF F J97 UH-UF 37F % & | 57 T¥1 T I Ueh IIsg
37eaT U FTHFT @ 31 1 T8l g ey

(iv) % AT 11 § 18 TF & 97 diH-di4 37 & 8/ 39 J91 T I 80
veal & AfEE 1 FE g AfE

(v)  U¥T GEAT 19 § 28 TF % Y¥T AN~ 37h! & &/ 57 I91 7 IT 100
vIsal | SAfeeF TE g1 =iey |

(vi) ¥ G&IT 29 WHGT  gattd 339 21 =70 T qEfeE 39T IW-

giEreT & Hiw gord Hieg |

Give the meaning of liberalism.

Or

‘Mention the main base of colonial economy of Vietnam.

3ISRETE HT 37 FaEu|
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Which are the two sources of fresh water in India ?

TRd § AT ST o g Gid & 9 2 7

Name the rwo main ferrous minerals.

3l Y@ g @S o 919 Jarse|

Where is the largest solar plant located in India ?

YA 1§ I8 92T R Sl G497 Fal a8 7

Mention the two major ethnic groups of Belgium.

dfesam & 31 Tg@ ST THET 1 Ieoid it |

How did Tommie Smith and John Carlos try to draw international attention
to racial discrimination in the United States at the time of Olympics, held at

Mexico city in 1968 ?

T 1968 # Aferrent Tt 1 gu stifcrfris @t o v 2nft fary o7 <7 heita
Y et § B @ 19T % iy i Rt w eam R weR diey @
Hifrer =1 ?

- Why do some people, belonging to the same religion, often feel that they do

not belong to the same community ?
TF & UH I HEA AT TS AN I GR H TH & G ] G i TE
HHd ?

What is the main criterion for comparing the development of different

countries ?

Tafsr 29Tl % ok <l g 1 T MR F B 7

400@
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9. Give the meaning of average income of a country.

U Q97 1 IEA 3T 1 31 Tz

10.  What is meant by sustainability of development ?

forerma 1 arofiaran 1 o 7 27

11. How did Romanticism seek to develop a particular form of nationalist
sentiments during 18th century ? Explain. 3x1=3
Or

Why did French policy makers wanted to educate the people of Vietnam ?

Explain. A%gey

e YA SAEETE B TR T TS TR S g wrEe w e
AT ATEAT A1 7 T8 FHIf |

IrqaT
et fife Fmtar frraam & e = =0 rfée == == 9?2 we s

12.  Describe any rhree features of Civil Disobedience Movement of 1930. 3x1=3
1930 & HiaTa 27as snae i foral i faeivarst = auie =i

13.  Study the given passage and answer the questions that follow :
The Independence Day Pledge, 26 January 1930
“We believe that it is the inalienable right of the Indian people, as of any
other people, to have freedom and to enjoy the fruits of their toil and have
the necessities of life, so that they may have full opportunities of growth.

We believe also that if any government deprives a people of these rights

408@

32/1/1 4



32/1/1

and oppresses them, the people have a further right to alter it or to abolish
it. The British Government in India has not only deprived the Indian people
of their freedom but has based itself on the eiploitation of the masses, and
has ruined India economically, politically, culturally and spiritually. We
believe, therefore, that India must sever the British connection and attain

Purna Swaraj or Complete Independence.’

(13.1) Why was it the inalienable right of the Indian people to have freedom ?

(13.2) How did British Govt. exploit the Indian masses ? Explain.

fou U e=RE @ sremEE & 3R IWe i feu v uwEi & I difu:
a-ar feaa &t v, 26 FEEE 1930

Tur favars 2 o e off oo il e aRdiE Sear 1 ot 78 v ereiE
(inalienable) 3w 2 7 32 et e, 1ot Ueaa =1 % e, afn
Sfrem it avft sevEsard ot 7, o8 3% o agd & ufgul sEwr fid )
= g o favame 2 T afe = oft eweer ot soar i 39 sl 9
gfed Tad! 2 3R FaTd! & a1 SEaT 1 ot TR F gee a1 30 Sy gHTed
T 1 AHR 2| IRA T at TR 4 7 FHae IR a1 sl wa=d
T afad forn 2; afes 3u Stwan =1 sy fam § @i 3w =61 enfefes, Terifass,
HEpfde Ud TeATicie TR o A8 & fea )1 gafae g favar 2 i wma
&1 3far &9 9 527 % @1y o gt eyl B gurd ek qul =S uTe
= =z’

(13.1) YR ST i ST I A T ST SRR i ar?

(13.2) Toart v 3 widia sHar =1 o fre g foman 7 s i

40@
5
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Note :

e

14.

15.

14.

32/1/1

Below are given three groups — A, B and C for questions number 14 and

15. Select any one group for answering these two questions.

9T WEAT 14 3R 15 % foru = =6, @ 3R 7 = e fow e € ) = g
et & IW % Tore Torelt o wg =t & giul

Group A
|HE <k

What is Group 77 ? Why did Group 77 countries demand a New International

Economic Order ? Explain.
T 77 TR ? W 77 o QU A 5 UG AT T ht F1 71T 6 7
Y Hy |

How did East India Company capture regular supply of cotton and silk goods

from Indian weavers ? Explain.
T Shean ol A4 R AR | gt 3R Wt awge i fafid srgfd w
foFe wepR st 5T forem ? wm Sifsu |

Group B
g @

Explain with examples that an average worker in the mid nineteenth
century was not a machine operator but the traditional crafts person and

labourer.

FeteE Bt o HET T A HSIQ W] T HH HA A1 A&, dfesh TETa

FRITR TR TSI AT, I afgd Wy Fifem |

M\
EIoNC

6

1+2=3

3x1=3

3x1=3



15.

14.

15.

16.

17.

18.
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Mention various measures which were taken to decongest London in the

nineteenth and twentieth centuries.
Fefferet 3R et sraTfeeat § oieT & sfieuTS S FW R F fore 331 u i
39T T 3PT HRC|

Group C
R

Explain with examples the role of technology in helping to solve hardships
of food availability throughout the world in late nineteenth century.
Fefge gt o 1f<q =R § GER WX H AT W 3USTsHdT hl HiSATE &l g
FA T GErIeh dehH1eht i Jfiert =l JaTewon wfgd wE wi)

How did the development of cities influence the ecology and environment
in late nineteenth century ? Explain by giving an example of Calcutta
(Kolkata).

IeTadt wdt & st = § vl o e 1 aiiRufaeht 3 wateror i e
TR Wi fora 7 shetere (SRITTeRTAT) ST IETE od §U TIE HiU)

Explain any three factors that affect the location of industries in a region.

feret waer § el o fedrfa st wrfer s aret foreel e shient ol T SR

Explain, how power is shared among different organs of government.

e % fafir 3t % offer form wopm a1 sieam g 2, T il

How did consumer movement arise in India ? Explain.

WA # IUHIHI SAEIeH e THR J% g7 7 T8 HR|

400@
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19.

21,
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““Print did not only stimulate the publications of conflicting opinions among

different communities but also connected them in nineteenth century in India.”

Support the statement with examples. ; 4x1=4
Or

“Prem Chand’s novels are filled with all kinds of powerful characters drawn

from all levels of society.” Support the statement by giving suitable examples. 4x1=4

e 1 el wraredt § gEor A 7 Faa fafi wgeEt & e e %
WeRTe @l Ui Toram; ifug 32 oTmad o Siret oft | 39 e Rt 3ereion |fga
gy = |

Frera
“Uyeig % ST H GHTS % B TR F A AEIay wiwewest 9fim 217 Sw
FRTET 3 Y HUA I g H)

Classify resources, on the basis of exhaustibility in two groups. Mention

three characteristics of each. 1+1%+1%=4
HTCAAT o TR T GHIEA] Sl & 0 | Ffighd wRU | Yo a1 h diF-di

Look at the picture carefully and answer the questions that follow : 1+2+1=4




(21.1) Name the crop shown in the picture.
(21.2) Write climatic conditions required for cultivation of this crop.

(21.3) Name two major producing states of this crop.

Frerifera form =1 waeTigEen faw of e A9 faw e o % s df

(21.1) fax @ fe@E 3 woa &1 9™ 4Ry
(21.2) 38 HEA HI ITH & U a3 Seamfas s fafian)
(21.3) 38 BUA % &l YYE Icq1EH AsAT 6 19 Iz |

Note : The following question is for the Blind Candidates only, in lieu of question

number 21.
e« Fefafad w Faa gfedm udenfia & foo wa @@ 21 & ©=m w3

Explain any four characteristics of commercial farming in India. 4x1=4

RA T amforfsss i i Rl am fasiaanett @ e il

22.  Why is road transport more useful than rail transport in India ? Explain four

reasons. 4x1=4

Wﬁmm,hqﬁaﬁﬁﬁwwﬁﬁa@ﬁ%?wwmm&m
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~23. How do social divisions affect politics 7 Explain with examples. 4x1=4

raTtSies SevTa fore TR UsHIfT o1 gaTied g @ 7 3STen gied T9E iU

24. How do pressure groups influence politics ? Explain with examples. 4x1=4

TTE | USHITG T 3h TR I9Ta STerd & 7 I3TeRen |ied TE HNe |

25.  “Democracies lead to peaceful and harmonious life among citizens.” Support

this statement with examples. 4x1=4
SArRaie e e I 3R gguTE 1 e SfiH # Amiient & forg
TEETR Aiferd gt 717 36 e it IaTeon |iga gfy wiu)

26. What is an organised sector ? Describe its working conditions. 1+3=4

GUfed &=k 1 B 8 ¢ WiSd & i wE- el w1 sl fifs)

27.  Why are transactions made in money ? Explain with suitable examples. 4

@iieardl ga1 = "iewH ¥ H®T Bl & 7 I9Yeh e Afed T HRC|

28.  “Globalisation and competition among producers has been of advantage to

the consumers.” Give arguments in support of this statement. 4.
“SrefteRtor SR IcaTeenl % offa wfaeqsl § SusiheTi ol A g R 1 39 A
% 9 H doh e

29.  Six features with serial numbers (i) to (vi) are marked in the given political
outline map of India. Identify these features with the help of the following

information and write their correct names on the lines marked in the map. 6x1=6
(1) A region of large scale industries in 1931
(1)  An important centre of overseas trade during 17th century.

(i11) A bauxite mine

32/1/1
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(iv) A mica mine

(v) A cotton textile centre

(vi) A terminal city of East-West Corridor

Or

Locate and label the following on the given political outline map of India : 6x1=6

(1) Madras (Chennai)

(i)  Dandi

(ii1))  Rihand — dam

(iv)  Kaiga — nuclear power plant

(v)  Vishakhapatnam — iron and steel plant

(vi)  Srinagar — software technology park

fau T v & TeHifae TET-aEteE ® 5@ (1) F (vi) T8 2fhd A TS g | e

&1 TS TR o TR W 39 Hal 1 T8 371X 39 TEl 919 A § 3ifha
- T@ren w R

(i) 1931 ® 512 UM F I H1 TF e

(i) oEdi gdl # fava =R #1 U seEyy

(ili)) U SR @H

(iv) US Yk @H

(v) U el I A R

(vi)  E-ufEEm iR 5 s AR

CPE
ud % fiu T eEfes Yar-amt w fefifaa 6 el e o o

Tl 9 fafaw :

(i) wETE ()
(i) et
(iii) TE= -9

(iv) T — AT el 9
(v) Tommardem — < 3R e 9u
(vi) IR — HigeaR NEifeh arh
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Note : The following questions are for the BLIND CANDIDATES ONLY, in lieu

of question number 29.

(29.1) Name the place where Indian National Congress Session was held in

1927,

(29.2) Name the large scale industrial region located on western coast during

1931.

(29.3) In which state is Kaiga nuclear power plant located ?

(29.4) Name the state where Vishakhapatanam iron and steel plant is located.

(29.5) Name the major mica mine of Andhra Pradesh.

(29.6) Name the western terminal city of East-West Corridor. 6x1=6

e : Frafafad v e geda wfentdat % fOu T F@n 29 % o W

(29.1) 39 T I AT9 FAT3C &l T 1927 H IR TH F1 1 ATaw=
g aq?

(29.2) ¥ 1931 % R ufvadt a2 W feora 512 9ue & i e 1 am
ERIELY

(29.3) T AT w1l g9 g U9 § fErE 2

(29.4) 3T TSI 1 9 Fargy, s fremares «ier i g 999 fom 2

(29.5) 34 TeW hl TH@ AYH @H Hl 0 TR0 |

(29.6) Id-ufvay iR & F=d gfead} w&t =1 919 Fdree |

For nore previous year question papers visit

www.40Nn0.com
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Outline Map of India (Political)
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